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Lead2pass CompTIA PK0-004 Exam Dumps Free Download: https.//www.lead2pass.com/pk0-004.html QUESTION 21Which
of the following is a definition of an RFP? A. A document sent to potential vendorsto solicit abid for aprojectB. A document
sent to potential vendors to request information for skills and experience for aprojectC. A document sent to potential vendorsto
request acommitment for aprojectD. A document sent to potential vendors to solicit information that excludes pricing information
for aprojectAnswer: B QUESTION 22A project has fallen behind schedule. Upon investigation, the project manager determines that
team members have implemented requirements relayed viaimpromptu hallway meetings with the client. Which of the following
should the project manager do to resolve thisissue? A.  Update the scope management plan.B. Maodify the project baselines.C.
Implement change control management.D.  Inform the stakeholders of the issue. Answer: B QUESTION 23A project teamis
oversee.ng the installation of anew reptile habitat at the local zoo During execution, zoo personnel decides to house a different type
of reptile that will require a different temperature range than the capacity of the installed system The modification has been approved
Which of the following constraints are MOST likely to be affected? (Choose two.). A. Quality because the existing system is now
outside the thresholdB.  Requirements because thisis a change to initial scopeC. Cost because replacing the system incurs
additional expenseD. Schedule because this was an unscheduled task and will impact the timelineE.  Stakeholders because they
will need to understand the modification and provide buy-in Answer: CD QUESTION 24An authorized change to a construction
project was implemented. During the modification, the team identified a defect in which the change caused the building power
output to be outside the KPPs. Which of the following actions should the project manager take? A.  Submit a new change
request.B. Initiate theregression planC. Add remediation to the scheduleD. Accept the new power output. Answer: B
QUESTION 25Which of the following isthe MOST likely target audience to be notified of the achievement of a key milestonein a
project schedule? A.  Project manager and project schedulerB.  Project coordinator and project sponsorC.  Project champion and
project schedulerD. Project stakeholders and project team Answer: D QUESTION 26Which of the following metrics demonstrates
to a project manager if a project is overspending or under spending ?A. EACB. BACC. CPID. ETC Answer: C QUESTION
27A project manager is managing atransnational project.One of the key team membersis having difficulties understanding the
client requirements.Which of the following actions would be BEST for the project manager to take? A.  Ask the client to provide
additional language resources to theteam.B.  Purchase alanguage trandation programC. Hire atrandator to help the key team
memberD. Ask the client to provide requirements in the native language of the team Answer: D QUESTION 28A new project
charter is being drafted. Which of the following would be the BEST source for the high-level project requirements? A.  SponsorB.

Project managerC. Project management officeD. Project team Answer: A QUESTION 29A project team member highlights to
the project manager that expensive licensing for critical software in use across the project may expire before the completion of the
project. Which of the following would the project manager MOST likely do? A.  Place arisk on the risk register and arrange a risk
review with the appropriate stakeholders to accept and/or mitigate theriskB. Raise a purchase order to purchase the licensing and
ask the team member to install it.C. Amend the project scope and raise a project change request to obtain approval of the
amendment.D. Amend the project schedule and work breakdown structures to remove the use of the software from the project.
Answer: A QUESTION 30A customer asks a project manager if asmall change can be made during the delivery phase. The project
manager does not agree to the change.Which of the following isthe MOST likely reason? A.  Established communication planB.
Scope creepC.  Resource constraintsD.  Iterative approach Answer: B PK 0-004 dumps full version (PDF& VCE):
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